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Question 17:

Explain how import substitution can protect domestic industry.
ANSWER:

In the initial seven five year plans, India opted for import substitution strategy,
which implies discouraging the imports of those goods that could be produced
domestically. Import Substitution Strategy not only reduces an economy’s dependence
on the foreign goods but also provides impetus to the domestic firms. Government
provides various financial encouragements, incentives, licenses to the domestic
producers to produce domestically the import substituted goods. This would not only
allow the domestic producers to sustain but also enables them to grow as they enjoy the
protective environment. They need not to fear from any competition and also not to worry
about their market share as license gives them the monopoly status in the domestic
market. Being monopolist, they earn more profits and invest continuously in R&D and
always look for new and innovative techniques. This gradually improves their
competitiveness and when they are exposed to the international market they can survive
and compete with their foreign counterparts.
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Question 18:

Why and how was private sector regulated under the IPR 19567
ANSWER:

IPR 1956 was adopted in order to accomplish the aim of state controlling the
commanding heights of economy. This policy was aligned with the Indian economy’s
inclination towards socialist pattern of system of Soviet Union. According to this
resolution, industries were classified into following three categories:

Category 1: Those industries that are established and owned exclusively by the public
sector.

Category 2: Those industries in which public sector will perform the primary role while
the private sector will play the secondary role. That is, the private sector supplements
the public sector in these industries.

Category 3: Those industries that are not included in Category 1 and Category 2 are left
to the private sector.

These industries that were left to the private sector, the government owns an indirect
control by the way of license. In order to initiate a new industry, private entrepreneurs
should obtain license (or permit) from the government. By licensing system, tax holidays
and subsidies government can promote industries in a backward region that will ,in turn,
promote the welfare and development of that region. This was supposed to reduce
regional disparities.

Further, in order to expand the scale of production, private sector needs to obtain license
from government. This was supposed to keep a check on the production of goods that
are socially undesirable and unwanted. Hence, the state fully controlled the private
sector either directly or indirectly.

HEWIT 1956 I HTHGTEAT T HAMST F<ASAT A1 FAATIT T dTel TeT & 3662T A QT e & TIT 9=
T ATl Fg ST AfeTaT Fa & qorelr & FATSEET Yot & Ui AT IeTaEyT & FHA & Y TS HT TS
M H Whed & AN, 39N B Petar@d dier AT 7 gefiepa frar arr am:

Aol 1: F 3cINT S AESITAd 817 ganT fady &9 & Tuifia 3R warfdaa # £

Aol 2: F 3T o e &1 arafae ifaer e Safes et e gfadae sffer @emar Il st
&7 3o 3N H WA &F N Weh qA1elm g

Aot 3: F 35T S Aol 1 3 Aol 2 F arfder w67 &, 3¢ fAoh & # 815 & Sar 8



T 35T S Al & & T o5 U a1t 9, TR dsdd & AIH 8 U A9casl fadaor & Afos g1 T a1
3T Y& A & AT, A6l AT I THR 8T (I RIAC) IIed AT AT ASHE JOTell SarT, H
Jraarer 3R Ffcasl TER UF USS 417 7 3Nl A 9¢/dT & Hhdl ¢ oif 9gal #, 39 &7 & FHedror 3R e &
gerar & Ig AN IHATATT A HH HA arell AT

g% 3Tdl, 3cUlesT & YA & R{ATEIR e F AT, [t 87 FI WHER T I8 IIed F T TaIST &1 T§
3T AT & 3cUed W FoR W@ & AT a1 3 grAfae &9 @ 3aeay iR 3@ed &1 safdu, I o gcgef
T 3VceT & § Al &7 & @@t g & Hafa faa)




	Question 17:
	ANSWER:
	Question 18:
	ANSWER:

